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JOKE CONTEST SUPPLEMENT

BI6EYI—Y raVTRAME—EB/E
*We, Jokers No.36 A#KD THHGL] GUE=E)IDEESER) L AbETEHALIEIN,
5 DT, VBD(voting before debating) + VAD(voting after debating) =& &5 TY,

Hfh&E HaELRR

Middle age is when a guy keeps turning off lights for economical rather £H — 5B

than romantic reasons.

(Lillian Carter ) 04+0=0

Lillian Carter 135t7 2 U 7 K#E Jimmy Carter O -8,

(16 words)
2 ) . wos
A Japanese lady in U.S. went to a doctor for the first time. RE T
DriHovs'/areyou? 11+13=24
Lady: Fine, thank you and you?
(23 words) m
@ g
3 . oo
Judge: Order, order in the court! RE T
Prisoner: I'll have a ham sandwich on rye with beer.
(16 words) 2 14—7
4

£l SefE

04+0=0

One trains the mind and the
other minds the train.

(20 words)




5 P/NG
Enjoy discount air tickets! My last flight was R&BINES
really no-frills.
Instead of showing films, we just buzzed the
drive-in theaters. (20 words) 0+1=1
no-frills=&%5 72 % —177 ¢ 203720, buzz= ~ % TK%
AT %
6 .
My mother should stop lying about her age because HEH REA
pretty soon I'm going to be older than she is.
4+4=38
(19 words)
* Growing old is mandatory; growing up is optional. oE BT
--Chili Davis
6+8=14
(8 words)
8 « . . I
Excuse me, does this train go for Tenth B RE
Street?”
“Yes; watch me and get off one station 1+7=14
prior to me.”
“Thanks.” (21 words )
i - B LEET ZHERERE FOGEE®E) 5 285 [A Piece of Cross-Talk (22174
WBF —HEE) & RRICHRE,
9 .
What’s the difference between a new husband and a HHAAEF
new dog?
After a year, the dog is still excited to see you. 2+3=5
(22 words)
10 ..
Q: Why do hummingbirds hum? HMHAAEF
A: Because they don’t know the words.
0+1=1
(10 words )
2
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11

It is tough to do inventories in Afghanistan
because of the tally ban.

Rk HE

2+2=4
(13 words)
12 ,
BARBER CUTS IN &N i
(3 words)
1+4=5
13 . . =
Most foreigners visiting Japan wonder many EH X=
Japanese wear masks in public.
Chinese proclaim Japan is the root for PM2.5 0+0=0
pollution.
(20 words)
14 . . . -
Crime doesn’t pay. It’s a crime when it has to. FH X=
A 360 degree change, huh?
Can I borrow 500 yen? (20 words) 0+0=0
15 . . s
What is the difference between see and sea? It R
You can see the sea but the sea can’t see you. 6/;
(19 words) i 6-‘ 0+0=0
16 cr : "
I wouldn’t say that my wife is a bad cook. ... INE RS
but she does use a smoke alarm as a timer.
(20 words) 1+0=1
17 .
You know you're getting old when you and your Hi Ok
teeth no longer sleep together. - ke W
N W | 445=9
(18 words) ‘ s !
3
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Seven qualities to be a perfect wife. R X
Beautiful, Responsible,Energetic, Adorable, Sweet, Truthful and
Self-Organised. o+2=1
In short, she must have good B.R.E.A.S.T.S.
(22 words)
19 ) . . .
An appliance store ad said, “Don’t kill your wife. Let TE B
our washing machines do the dirty work.”
2+2=4
(17 words)
20 L e .
Marriage is an institution in which a man loses
his Bachelor’s Degree and the woman gets her
Master’s.
(18 words)
21 .. . poe ;
If flying is safe, why do they call the airport the TH #
‘terminal’?
(12 words) 1+2=3
22 . e
Dad, I don't really want to go to Australia or A& [&—
somewhere around....
Shut up and keep digging! o+4=9
(17 words)

FEo7 L 81T L BIT 14 AW L E L72A 8 ITFEEHIFR (20 words) &4 —/S— L TWE LD T,
TIREALE TR0 =G L E L,
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